02271y EESH.R R.Code

1 $44 4 —TAAVATAVDEIG 44 # 4 ##dh 44 #HHH RS HHH 14 4
2 ### (biopsy)data

3 library (MASS)

4 data("biopsy™)

5 str (biopsy) #Breast Cancer

6 colnames (biopsy)

7 table (biopsy$class)

8  #vl:clump thickness.DEH

9 #v2:uniformity of cell size.HIBEBOKZFZDH—H

10  #v3:uniformity of cell shape.fl2DORIRD—1%

11 #v4:marginal adhesion.iB#EE

12  #v5:single epithelial cell size.BH—OERMBOKES
13 #v6:bare nuclei (16 values are missing) . & (16EDENRIE)
14 #v7:bland chromatin. (BE®)3:EE

15 #v8:normal nucleoli.EBEER/IMEK

16 #v9:mitoses . BRAH

17 #calss:"benign" or "malignant".BRMHHNEMHE

18 #glmBA#E factor EHIEIEEMICDUMMYy ZE £1E L THRAT

19 #malignant=1,benign=0

20 bio.omit <= na.omit (biopsy)

21 library (ggplot?2)

22 g2 <- #EEBONZLDTiitter TR

23 ggplot () +

24 geom jitter(aes(x = V1, y = class, color = class), data = bio.omit)
25 g2

26

27 out.bi2 <- glm(class ~ V1 , data = bio.omit ,

28 family = "binomial™)

29 summary (out.bi?2)

30 names (out.bi?2)

31 #Null deviance&Residual deviance®NI ZFEEE

32 out.bi2.null <- glm(class ~ 1 , data = bio.omit ,

33 family = "binomial")
34 anova (out.bi2.null , out.bi2 , test = "Chisg")
35

36 ori2 <- bio.omit[,c("class")] #v

37 prd2 <- fitted.values (out.bi2) #EZE

38 prd22 <- round(fitted.values (out.bi2)) #roundBE¥MCTFAIEZ0, 1 TRY
39 d2 <- data.frame(ori2 , prd2 , prd22)

40  head(d2 , 10)

41 tab2 <- table(d2$ori2 , d2$prd22) #FAEIFE

42 tab2

43 round(((tab2[1, 1]+

44 tab2[2,2]1)/sum(tab2)*100),2) #RO R
45

46 ###4ERBATHEEDT

47 out.bi3 <- glm(class ~ V1 + V2 + V3 , data = bio.omit ,
48 family = "binomial™)

49 summary (out.bi3)

50 out.bi2.null <- glm(class ~ 1 , data = bio.omit ,

51 family = "binomial")

52 anova (out.bi2.null , out.bi3 , test = "Chisg")

53 library(car)

54 vif (out.bi3)

55 0ori22 <- bio.omit[,c("class")] #v

56 prd22 <- fitted.values (out.bi3) #fEZE

57 prd23 <- round(fitted.values (out.bi3)) #roundE#ETFAEEZ0, 1TRY
58 d22 <- data.frame(ori22 , prd22 , prd23)

59 head(d22 , 10)

60  tab22 <- table(d22$ori22 , d22$prd23) #TFARBE

ol tab22
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62
63
64
65
66
67
68
69
70
71
72
73
74

75
76
77
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95
96
97
98
99
100
101
102
103
104
105
106
107
108
109
110

111
112
113
114
115
116
117
118
119
120

round(((tab22[1, 11+
tab22[2,2]1)/sum(tab22)*100),2) #HIHER
#4 4 BIIFEOH
plot (influence (out.bi3)$hat) #Leverage:ClH
plot (cooks.distance (out.bi3)) #CookMEEHE
influencePlot (out.bi3 , main = "Influence Plot:FADYAZECookDIEFENDIZEE ")

HHH BRI BRI, Step-WiseiB#######t# 44 H 4 H 4 H 4 HHHHEH R EH R HHH S
step (out.bi3) #ZEHELE
#Step-WiseiEMDERE
out.bi2.null <- glm(class ~ | , data = bio.omit , #UREFTOETIL
family = "binomial')
step(out.bi2.null , direction = "both", #direction = "both"
Step-Wiseik
scope = (~V1+V2+V3+V4A+V5+V6+VT7+V8+V9))
###E¥Model
out.fin <- glm(class ~ V1 + V3 + V4 + V6 +V7 + V8 + V9 , data
family = "binomial™)
summary (out.fin)

bio.omit ,

library(car)
vif (out.fin)

ori.y <- bio.omit[,c("class")] #v
prd.p <- fitted.values(out.fin) #HEER
prd.01 <- round(fitted.values (out.fin)) #roundBEAETCFAEZ0, 1TRY
d.fin <- data.frame(ori.y , prd.p , prd.01)
tab.fin <- table(d.fin$ori.y , d.fin$prd.01) #+FRIRE
tab.fin
round(((tab.fin[1, 1]+
tab.fin[2,2])/sum(tab.fin)*100),2) #HIHER
HHTEBEIREDH R

exp (out.fin$coefficients)

## # AR E2 T

plot (influence (out.fin)$hat) #Leverage: CCLb

plot (cooks.distance (out.fin)) #CookMEEEE

influencePlot (out.fin , main = "Influence Plot:FADTAAECookDEMADEZEE ")

thdadd#ERBAERUCfactor® (DTTVHIVER) BEDASH #4444 - HHHHHHHHHH
library (MASS)

data (Cars93)

str(Cars93)

colnames (Cars93)

anyNA (Cars93[,c(1:27)1) #HEEHEDEB CNah' HEIH

cars <- na.omit (Cars93) #NAZT AR TComit L7714 L ERKL

table(cars$0rigin)

library (ggplot?2)

g <- +EBIONZLDTyitter CER
ggplot()+
geom jitter(aes(x = EngineSize, y = Origin, color = Origin), data =
cars)

g

library(glm2)

#g1mBARF fact or EHIF B EAICDummy Z $1E U THEHT

#non-USA=1, USA=0

out.bi <- glm(Origin ~ EngineSize + Price + DriveTrain, data = cars ,
family = "binomial")

summary (out.bi)

names (out.bi)

ori <- cars[,c(26)] #v
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121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
151
152
153

prd <- fitted.values(out.bi) #HEZE
prd.2 <- round(fitted.values (out.bi)) #roundBEHTFANEZ0, 1 TRY
d <- data.frame(ori , prd , prd.2)

d
tab <- table(d$ori , d$prd.2) #TFRIFEE
tab
round(((tab[1l, 1]+
tab[2,2])/sum(tab)*100),2) #HIHER

BhHH 4 EEER
step (out.bi) $EHUR DA
out.bi.null.c <- glm(Origin ~ 1 , data = cars ,

family = "binomial")
step(out.bi.null.c , direction = "both", #Step-Wiseik

scope = (~ Price+MPG.city+EngineSize+Horsepower+RPM+Fuel.tank.capacity+
Width+Length+DriveTrain+AirBags))
### I Model
out.fin2 <- glm(Origin ~ Width + Price + Fuel.tank.capacity + EngineSize +
DriveTrain , family = "binomial", data = cars)
summary (out.fin?2)
library(car)
vif (out.fin2) #ATITVAINEHDLHEINDT,GVIF” (1/ (2*Df)) EFIYY
ori2.y <- cars[,c("Origin")] #v
prd2.p <- fitted.values (out.fin2) #fEZE
prd2.01 <- round(fitted.values(out.fin2)) #roundBEHTFAIEZ0, 1TIRY
d2.fin <- data.frame(ori2.y , prd2.p , prd2.01)
tab2.fin <- table(d2.fin$ori2.y , d2.fin$prd2.01) #FRIFEE
tab2.fin
round(((tab2.fin[1, 1]+
tab2.fin[2,2])/sum(tab2.£fin)*100),2) #HIHER
HHTEBEIREDH R

exp (out.fin2$coefficients)
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